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The 13" Hong Kong Mathematics Challenge
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o 1. FFSE3R - BIHSF3I3R - 22 VEFEE - HBIENE
N B R 7457
Lily is 3 years old, and her mother is 33 years old
this year. After how many years will her mother's

age be 7 times her age?
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On a road, there is a lamppost every 60 meters. If
the starting point of the road is the first lamppost,
what is the distance (meters) between the first and
the ninth lampposts?

A. 48

B. 420
% C. 480

D. 540
O
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-~ Which of the following quadrilaterals has all the —

properties of a rectangle?

2%  Rhombus
IEFA 2 Square

¥ Trapezoid
— B2 Triangle
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4. B—EERENREMBEEZAIEN30cmE - EEE #
FERIRESRIBM 720 ? -
After increasing each of the length and width of a

square by 30cm, how much does the perimeter of
the figure increase?

A. 30cm
B. 60cm
C. 90cm
D. 120cm
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1.D
2. C
3.B
4. D
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